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11.

12.

13.

S ARE 105 2455
AR 2 2 4 A 338 4
B EMEEBB ¥ 1 AR 2 7

FRAR(100%)(BAL 5 &)
L o RARET SQL BERIR TR £ & o o — {8 F 2 £ 2§ 3517
(A)REVOKE TABLE (C) DELETE TABLE
(B) DROP TABLE (D) REMOVE TABLE
2. #H M IPV6 89 & A2 <
(A) 32-bit (C) 128-bit
(B) 64-bit (D) 256-bit
3. 3R ARM R B RIKA A B B2HE R R0 '
(A) CISC (C) x86
(B)RISC , (D) Pentium
4. 3R 0x2a8f XOR 0xa9%c 844t F A f7?
(A) 0xd3dd (C) Oxabcf
(B) 0x280e (D) 0x83cl
5. %R AMATREEIETE L BEEA 64 41702 ‘
(A) register (C) DRAM bandwidth
(B) hard-disk ' (D) color depth
6.

Yo XA — & ERE LLA quick sort 48 100 #54% % 5%, 1000 18 2 5 &4 B PR — 4B RS A quick sort B
Foi00 8% 5% & % A 050 ‘

(A)50.2 , (C) 11.2 b

(B)25.1 #» ‘ (D) 6.7 %%

3% A+(B-C)*D-E 844 /5 2 77

(A)Y ABCD*-+E- (C) ABC-+D*E-

(B) -+A*-BCDE : (D) ABC-D*+E-
FEF S — B R R X3S R lAR e

(A) Executing the program (C) Lexical analysis
(B) Parsing the program ' (D) Code generation
T 31 — 18 & & high-tevel programming language?

(A)C (C) Python

(B) JAVA , : (D) Assembly

HM TP B A TCP/IP 2B Wy 527

(A)Je B & (Application Layer) (C)#H #5 & (Network Layer)
(B)1# % & (Transport Layer) (D)#% 5% 4% # J& (Hardware-Link Layer)
o PB4 G0 S (TCP) 3R A LA F Bk AE 7 X kAR A9 30 48 72 10

(A)— & Fih & O =F#HEFHx
B)=F & FHE - (D)ea 7 42 F# =
# P Fe & (Deadlock)s 5 2 g147 4 4 M7

(A B R . (C)CPU #2478
(B)CPU X 1& (D)FEa% K /s
FRA—AEEERE L BAR? |

(A) #EH (C) &

(B) wEMH ‘ (D) =T A &



A A K& 105 £
FARIR 5 A 48 A 3 3
FHE S HMmEmD F 2 A 2 A

14. 3% K A8 — 38 £ & $cAr $ F(Digital Signature) B 32 42 4+ B 4 BB 752

(A) AT (C) a4
B) MEFE - D) FETFEM
I5. A — AR A S aE T et
(A) Inheritance | ©) Encapsﬁlation
(B) Resolution (D) Polymorphism
16. AR HET Y BEbLRESHHA  3HH AT e A% 4 AE B 472
(A& /148 » R S A0 Oiso- AR REHHMK
(B)#B&- 1 Aol » ISy ARk . (D)iBS A AR » WF 4
17, LU AR — 38 & & 48 )30
(A)E #% 83X (Random testing) (C) %5 %] 3 (Exhaustive testing)
(B)x% F{& 8 :A(Boundary value analysis) (D)#8.4% ;2] 3% (Basis path testing) |
18. 3t & (Stacks) #1243 71 (Queues) & 45 £ 5 5] 2 477
(A) 3 % 20 38 5 ol (first in, first out) (B) 3 & s 4% H (first in, first out)
17 % & # 44 H (first in, last out) T3 % i Skl (first in, last out)
19. — %% &  (hash function) % h(key)=key mod 11 » 8] h(21)#2 F &)| 4o & € Rt 3 (collision)?
(A) h(45) (C) h(22)
(B) h(65) (D) h(38)
20. Which of the following is the Non-polynomial problems?
(A)O() (©)O(n")

(B)O(10™) | (D)O(n'")



